Determineren Verba — Praesens en Imperfectum

Niveau: Pallas 11

Opdracht 1: Geef de gevraagde vorm + de vertaling van deze werkwoordsvorm
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.3 pl. ind. ipf. < xatafaiie

. 1% sg. ind. ipf. < oixéw

26.

1° sg. ind. ipf. < émLonomén

.1° pl. ind. ipf. < €9chw

27.

3° pl. ind. ipf. < amopeldyn

. 2° sg. ind. ipf. <etpt

28.

3% pl.ind. ipf. <etpt

. 2° pl.ind. ipf. < émiywpén

29.

2° sg. ind. ipf. < TOTTO

. 2° pl. ind. ipf. < &yw

30.

1° pl. ind. ipf. <elpt

. 3% sg. ind. ipf. < TepLBarim

31.

2° pl. ind. ipf. < elpl

. 1% sg. ind. ipf. <etlpt

32.

2° sg. ind. ipf. < edyapiln
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. 2°pl. ind. ipf. < ToLéw

33.

1° pl. ind. ipf. < dperém

10

. 2°pl.ind. ipf. <elpt

34.

2° sg. ind. ipf. < TpofBaihe

11

. 3% sg. ind. ipf. < Hxw

35.

3% sg. ind. ipf. < elut

12.

1e pl. ind. ipf. <&vdlve

36.

1e pl. ind. ipf. < eVplonw

13.

3% sg. ind. ipf. < xataBdAle

37.

2° sg. ind. ipf. < EémLywpem

14.

2° pl. ind. ipf. < 6pohoyén

38.

2° pl. ind. ipf. <etpt

15.

1° pl. ind. ipf. < amopedyw

39.

3° pl. ind. ipf. < 6pohoyén

16.

2° sg. ind. ipf. < axolw

40

. 3% sg. ind. ipf. < StapVelow

17.

1° pl. ind. ipf. <elpt

41.

2° sg. ind. ipf. < TpoPative

42.

1e pl. ind. ipf. < amopedyn

18.

2° sg. ind. ipf. < &ye

43

. 2° sg. ind. ipf. < elpl

19.

3° pl. ind. ipf. < oixéw

20.

2° pl. ind. ipf. < altéw

44.

2e pl. ind. ipf. < amopelym

21.

3% pl.ind. ipf. <etpt

45.

3% sg. ind. ipf. < xatafaiie

22.

2° pl. ind. ipf. < Tpofatve

46.

3% sg. ind. ipf. <elut

23.

2° sg. ind. ipf. < elpt

47.

1° sg. ind. ipf. < émLonomén

24.

3° sg. ind. ipf. < StapHeipw

48.

1% sg. ind. ipf. < 9Bptlm

25.

1° sg. ind. ipf. < Tpofaive

49.

2° pl. ind. ipf. < txetedm

50.

1° pl. ind. ipf. <€miywpéw




